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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

GROUP-A

1.  Answer any six questions from the following:

1x6=6

@I 270 AEa T Tl ¢

a)

b)

c)

d)

What do you mean by agglutinin?
SIS fA FETce 6 (@Rie

What is the function of ESR?
ESR-97 3/ 1 2

What is the function of HDL?
HDL-43 & il 2

Mention the name of a RNA-virus.

&6 RNA-virus 43 715 S 34 |
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g)

h)

Mention the name of a disease cause by

vitamin B-12 deficiency.

TebIfse B-12-97 @iofere @b @itea 7w S
|

Mention the name of two green house gases.
i &lel 21 TR IS SeEre 4 |

What do you mean by food adulterant?

A (STl 109 (12

Mention the name of a hormone release from

posterior pituitary gland.

Posterior pituitary (s 297® b 2T A1
Tl 4 |

GROUP-B
2. Answer any seven questions from the following:
2x7=14
A= @-CPleeTl ArefB elosiz Tes mie ¢
a)  Mention the name of the hormones released
from gastrointestinal tract.
STICBIRAGI IR BiF (CNPBAIE ©F) (A0
fHeoe BRI fera A Trard 59 |
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b)

g)

h)
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What do you mean by EEG?

EEG 9e1te & (a2

What do you mean by biomagnification?
Biomagnification ({57 &a<) Ie10® 5 @2

What do you mean by isometric and isotonic

muscle contraction? 1+1=2
FANES & NG (AR FALLHIB FeT00 6 (@ 2

What are the difference between pathogenic

and non-pathogenic bacteria? 1+1=2

@l Gl T& 8 SRINERINTE BRI M
el F 2

Write the name of two abnormal hemoglobin

variants. 1+1=2

uft Srreiis RritaReT ol e T S 4 |

What is the function of creatinine?

ferbia-az e Fi 2
Define the causes of hypothyroidism.

REIETSE O3 Sl F e

What do you mean by teratogen? Give an

example. 1+1=2

GG 108 G @R e G Tuigae wie |
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j)  What is the role of antibiotic in a disease?
I @l SpFeARIbE S Fie
GROUP-C
3.  Answer any five questions from the following:
6x5=30
e @-CPieTt Ao dos Te vl ¢
a) Discuss about the determination and
significance of TC and DC. 3+3=6
TC 938 DC -4 7<% 8 W] T{(F SICeTb=l
R
b)  What do you mean by SGOT and SGPT? What
are the functions of SGOT and SGPT?
(2+2)+(1+1)=6
SGOT 4= SGPT <&(cs & (J1i 2 Gorel Fler i 2
c) Define Ketone Bodies. What is Ketonuria?
44+2=6
THBIR TG (0 @14 | RIS il Fece & i 2
d) What do you mean by vaccination? Mention
about the importance of vaccination. 3+3=6
BieIael T6100 6 (@RI 2 DIRAIFCeE wag 2
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g)

Discuss about the effects of noise pollution.

W R Ao M9 i ST 1|

What do you mean by insecticide and
herbicide? Give examples. (2+2)+(1+1)=6

JIOART 92 (STGTHT FE0@ 1 (@R 2 OIwmd
TYIZe WG |

Write a short note on marasmus.

WA T 7:e B @12 |

GROUP-D

Answer any one question from the following:

10x1=10

N @-@IEN @6 AT TEI WS ¢

a)

b)
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Write briefly about the role of pituitary gland

in the regulation of endocrine functions.

SgsRAI PRI Fage PR afye ofi
AE FCFCA (@12 |

Write a short note on physical fitness index

with a suitable example.

Toie Trizae 72 *If srwsre! 5 (R femie
oM 3EH) ToiF @ WY @6 @12
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What do you mean by global warming?
Mention it's causes and effects on human
health. 2+(4+4)=10

TR Fece  @Re Ot 237 sl @2
G R S ToAF 99 2SI 2



